BiSolution | TriSolution | HiSolution BiSaluton | TriSolution | HiSoluton H H
1 - \\ TriSolution
é 20kg (44 Ibs) max. t‘ .
1 1 1 i ! / - . L3
10-30"(25 - 74 cm) max.
1
2
14 1 1 1 § g ;
4
1 ! /
3 e e it
/ 1 / & nastro desvo.
- E:ze\“@hmgg_ indl]er:é B;\:I 2 _l:liﬂ
5 Kobotind,
/ 1 / d £ ol A
3 the edhesive tape.
$ M8X50 mm 1 1 1 3b - Cablage intérieur pholo 7 28
. . 5 14 4 M8X25 mm 1 1 1 ::gs\;sdb\e avec la bande
j ; : 15 o 27X60 mm 3 3 / - :a;a_xb\airmbl‘m:fgugjhﬁh
16 a=ge @10 3 3 / st e
I u I n 17 g @5X40 mm / ! 6 - Kabelvoering binnen: afbeelding
7 tot 8. Bevestig de kadels met
18 amgs 28 / / ) het plakband
m m ! L v 2 | 2z | 2 e
) 2 2 2 sterband.
21 = M5X10 4 4 4 e
8 22 a fita adesiva.
= M4Xx10 4 4 4 ¥ v: EMEDENI K;\BEV%%E
= - 1 1 J 28 ) / ! 2 KABEL FOVCC LEPIC] MK
24 em=g) M6X30 / ! 1 . 53"'11."7’"‘“. ﬁm’n‘mﬁiw
25 & oM6 I / 1 mmm::;pﬁ.Tug;m;:
OVWTIK TaIvio.
26 © 210 1 1 1 !

HiSolution

é 20kg (44 Ibs) max.

[5] 10- 30725 - 74 cm) max.

Guida di montaggio / Mounting instructions / Montageanleitung / Prescriptions de montage B'SOIutlon 'E "f"“‘“f‘ j‘i ’1 }gg;
Guia de montaje / Montagevoorschrift / Monteringsvejledning / Prescricoes de montagem B 20kg (44 1bs) max. " e

: 51,0 ; ; ~_] 10-30"(25-74 :
| Awertenza: Un montaggio corretto & di fondamentale importanza. Peso massimo del TV LCD supportato: Kg 20 (lbs 44). La ! cmbmax
parete per lancoraggio deve essere di legno massiccio, di mattoni pieni o di cemento. E' necessario impiegare il materiale di
montaggio appropriato. Il produttore non si assume alcuna responsabilita in caso di ancoraggio non corretto. |l fabbricante

non si assume aleuna responsabilita in caso di impiego diverso dal sostegno di TV LCD.
G B Warning: Correct assembly is essertial. The maximum weight of supported LCD must not exceed Kg 20 (Ibs 44). The wall to

which it is to be attached must be of solid wood, brickwork or concrete. Require appropriate assembly materials. The \
manufacturer is hot responsible for any consequences deriving fram incorrect assembly or for use other than for LCD sets, 12
D Beachten Sie bitte: Eine kotrekte Montage ist von grundsétzlicher Bedeutung. Das Héchstgewicht der LCD-Femseher/-
Bildschirme muB Kg 20 (lbs 44) sein. Die Verankerungswand muB aus Massivholz, Vollstein oder Zement sein. Bitte - Paeagalo cavo eI
entsprechend geeignetes Montagematerial benutzen. Der Hersteller haftet weder bei unkomekter Verankerung. Fiir eine 7 fino a 8. Fissate il cavo con | -
benutzung anders als flir LCD-Fernseher/-Bildschirme ist der Hersteller nicht verantwortlich. aslio edesivo. ‘o 24
= 2 3 i 3 3 & - Kabelftihrung innen: Bild 7 bis 8
F Attention: Un montage correct revét une importance fondamentale. Poids maximum de écran plat: Kg 20 (Ibs 44). La paroi e D
de fixation doit &tre en bois massif, en briques pleins ou en ciment. Est nécessaire d'utiliser le matériel de montage approprié. S 1
Le fabricant n'assume aucune responsabilité aussi bien en cas de fixation incorrecte qu'en cas dapplication différente de celle - Inrer cable guide: Fig. 7 to 8 L+
de support de pastes de écran plet Fix the cables in position using
the adhesive tape. o
[E Atencion El montaje correcto es de importancia esencial. Peso maximo del TV LCD: Kg 20 (Ibs 44). Instalar Gnicamente en & Clhiaeiniien pob7g o 7
paredes de ladrillos o de cemento o sobre columnas de madera maciza. No fijar a un entablillado o machihembrado de adnésive. 5
mac_iera pues no tendria sulipiente solidez, La instalacion requerird la utilizazion de material de fijacién apropriado. El - Pasaceb{ssinieno: figua 7 aste
fabricante sélo se responsabiliza de su uso como soporte de TV LCD- Elksabakontecns
N L Waarschuwing: Correcte montage is van essentieel belang. Maximaal gewicht LCD schermen: kg 20 (Ibs 44). Montage - Kabelvoering binnen: afbeelding \]
7 tot 8. Bevestig de kabels met -

alleen aan wandan van baksteen of beton of aan houten pilaren. Gebruikt anders dan voor LCD schermen valt buiten de

T o3 (7 het plakband.
verantwoordlijkheit van de fabrikant

- \[ldvendg kabetfering: bilede 6
DK Bemaerk!: En korrekt montage er yderst vigtig. Max vaegt af LCDskeerme er Kg 20 (Ibs 44). Montering kun pa vasgge af M8 fesoorkekitmed
sten, beton og pa treestetter. Kreever andre monteringsmidler. Benyttes andet end videoapparater LCDskeerme garantien
- Assentamento de cabos interior:

:%ltfa.;:ﬁ \;: Fixe os cabos com

P Atencao: Uma montagem correcla € importancia essencial. Peso maximo do LCD: kg 20 (lbs 44). Aplique 50 em paredes de
alvenaria au de betao ou em vigas de madeira. Ser4 necessério material adequado. A montagern de LCD num outro fipo de
tecto, nao é da responsabilidade do fabricante.

AT O Oy R B e
ol et e o bt B

- VNITRNI VEDENI KABELU;
OBRAZEK 7 - 8. UPEVNETE
KABEL POMCI LEPIC PASKY

- EOWTEPIKGG 0BNY6S Kahwdinv:
#7107 pe 8. ETEPEWOTE TA
KaM@Sia XPRoTHOToIdVIag

Max 17,6 Ibs / 8 Kg povoriki Taivia.





